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BHAGIRATHT BAL  SHTKSHA SADAN  SEC - o Haol

CLASS - I
~SUBTECT - MATHS LESSON =4 | ARGIE NUMBERS
¥ Successor - Succegsos 1S Jhe numbes Just afder e

given numbee - Ex - 375469 — 375470
¥ Pyed = o o s b beFare The
Lcessos QPKeJecessor 1s the number Jus
Jiven number. Px - 495730 - yqs 729
¥ How + wyie number jn short Foxm -

Equp):’f 80000'+ 5000 +9 = 85002
de wil) add qll 4he numbers and  Find dhe  Shott Fosm.

o000
i 5000
. + 2
i’ 85002
¥ EqunJUJ Foxm <-
Ex- 69543 = €o000 # qo00+ 500 F §o +3

¥ Ascendin ovdey - T+ yepresents numbess Fsom

lowest 4o highest
Ex- 1Sy 18, 5y 65 95 10

R -ASCU\J?W ovder - 54 6y 9y 10 )Sy 18
y K D&Sch};ﬂ(j OTO}U* Tn ducehc”n(j mm)eT Pumbe s ate
QﬂQﬂﬁd Fsom ’qrae&!— Jo Smallest -
Example — 1§ 185 55 £y 99 )0
: 0y 9y £y §
Ducuwh{g 0‘6‘0’1‘6‘-— |89 )15 10y Ty 6

s /—}\S\Slqanmuv* fo do:-

I* Wore the humbes in Shovd Foxm -
- 9) 50000+ 3000 + Joo + § -

-— ——

- b) 700000+ Y0000+ Spoo + 800 + Yo + g
€)J00000 + 50000 + 30600 + 9200 + lo + 5§
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§
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j vt the FoHowl.rU n eXPanqu Form .

a)3sy3e)

b) 895432

¢) 9)35Y8

x Aquﬁe The P"Hw;”ﬂ num b ens n %_ccm//ag and a’ucehJ;/(y

ovdev.
) 75487 5 87€709), 185468 5 35069

b) 100976y 56803y 975€63)y 73018
C) 835Y)y 930635y SYJoTy |37F05Y
d)9ayso)y 9875y, Y3210y J0o09SY

¥ weite the successos gf each oF he Pa//au?/nfg numbers .

a) $S7632 b) 700000 ¢) 100000
¥ weite the Predecessos of tach of dhe Fb//aw;‘ry numbags
a) Y¢€9379 b) 400000 ¢) Jooooo
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